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'Accordmg to the follownng reaction, what volume of O. 244 M

KC1 solution is required to react exactly with 50.0 mL of 0.210

M Pb{NO3)2 solution?

2 xci{ag) + Pb(nO3)2(ag) — PbCi2(s) + 2 KNO3{(aq)
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How many grams of oxygen, O, (Mm=32.0g/mol), arec thare

in a 36.0 L gas cylinder at 20.0°C when the nxygan pressure " ' 0
is 1919 kPa? . |
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what temperature in"C vwill a {ixed aniount of gas with g
roluonc of 197 L at 15°C ur‘ri 780 mymHg occupy a volumeo of

19E L at a proagssare of 6 Any M Hg?
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N At what temperature in K would O5 (49 00 g/'mole) mqle:tcme's have a root mean square speed (rms) equal
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How many grams of sodium (23g mol)dre reduired to praduce 2000 L of hydrogen gas at 0 0 °C and 750
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